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Section A: ( 30 marks )

Questions 1 to 15 carry 2 marks each. For each question, four options are given. One
of them is the correct answer. Make your choice (1, 2, 3 or 4). Shade the correct oval
(1, 2, 3 or 4) on the Optical Answer Sheet.

2 What is the value of the digit 8 in 46 891?

(1 8

@) 80
(3) 800
(4) 8000

2. Round off 56 499 to the nearest hundred.

(1) 56000
(2) 56400
(3) 58490
4 56500

3. Which of the following is not a common factor of 12 and 187

(1)
@
3)
(4)

w0 NN O

4, The figure below Is not drawn to scale. ABC is a straight line. Estimate the value of y.

y
A B o
(1) 10°
2y 75° -
(3) 90°

(4) 130°



5. How many angles inside the figure shown below are greater than a right angle?

M o9
2 6
@ 3
@ 4

6. T HE O RY

How many of the letter(s) above has/have both perpendicular and parallel lines?

M 1
@ 2
G 3
@ 4

[ Which one of the letters has no lines of symmetry?

F O X Y

(1 () @) (4)



Find the common multiple of 4 and 6.

M 12
@ 2
@) 18
@ 4

There are 12 aduits and 16 children at a party. What fraction of the people at the
party were children?

1
M

)

Alw

(3)

~N|w

4)

I EN

Mrs Lee bought 4 kg of longans. She ate % kg of longans. How much longans had
she left?

3
Q)] 35 kg
5
(2) 3Ek9
3
(3) 45'(9
5
4) 4§k9



11.

12

Arrange the following in decreasing order.

Q)

(2

(3)

(4)

Look at the 8-point compass below.

.
5

oo

WinN wiN

ol aln

aiN

@GN WIN o N

ao

NE

SE

When Siti turns 135° in an anti-clockwise direction, she will face East.

Where was she facing at first?
1n W

2 s

(3 Nw

(4)

SW



13. ABCD is a rectangle and DEFG is a square. Find angle BDF.

A B
F G
. 76°

E D c
(1) 14°
@) 59°
(3) 90°
@) 121°

14.  The sum of 2 numbers is equal to the product of 24 and 5. If one of the numbers is
75, what is the other number?

(1) 25
(2) 45
@ 175
4) 195

15. Mrs Lee poured % litres of water into beaker A. She poured % litres less water
into beaker B. How much water was there in both beakers A and B?

1

() 5 ltres

@) g-ﬁhes

@) 1) litres
6

@ 1 fitres
2

-—

END OF BOOKLETA
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Section B: ( 40 marks ) Do not write
Questions 16 to 35 carry 2 marks each. Write your answers in the spaces n this column

provided. For questions which require units, give your answers In the units
stated.

16.  Write 98 712 in words.

17. Fillin the blank with the correct number in the number pattern below.

34140 , 34200 , 34260, ;s 34 380

Ans :

18.  Arrange these numbers, beginning with the smallest number.

(o ] (o ] () (o ]

Ans:

smallest greatest




19.  Here are five number cards.

Arrange these cards to form the greatest 5—digit even number,

Ans ;

20.  Look at the number line below. Write the fraction or mixed number in the
boxes provided,

21. 37x48=

Do not write
In this column




3=

23.  Draw a line perpendicular to EF passing through point P.

o P

Do not wiita
in this column

24,  Construct and label an angle such that ABC is equal to 55°.




25.

Mother packed 385 cookles equally into 4 boxes. How many cookies were

Do not write
left over? In this column
Ans :
26. -} of Huiling's stamps is 12. How many stamps does she have?
Ans :
27. Four circles are shaded below. How many more circles should be shaded so
that 9 of the set is shaded?
6
Ans :




28.  Devihad 100g of sugar. She used ;52. of the sugar. How much sugar was left? s coumn
Ans : g
29.  In the figure below, ABC is a straight line. Find Zm.
m 58°
A B Cc
Ans : °
30. PQRS s arectangle. Find the value of Zw.
=] Q
w
200
32°
S R
Ans: ¢ B
6

10




31.  Shade and complete the figure using the bold line as the line of symmetry.

Do not writa
In this column

32.  There are some pupils in the hall. g- of the pupils are boys and the rest
are girls. There are 40 girls. How many pupils are there in the hall?

1



33. A stiing was 4m long. Christina gave % of it to her sister and %m to her
friends, How much string had she given away?

34. A bag and a pair of shoes cost $200. The bag cost 4 times as‘much as
a pair.of shoes. Find the cost of a pair of shoes.

Ans:$

12

not wiite
this column




35.

Fiona, Gillian and Heather had a total of 275 stickers. Fiona had thrice as

many stickers as Gillian and Heather had 30 more stickers than Gillian.
How many stickers did Gilllan have?

13




Section C: (30 marks)

For questions 36 to 43, show your working clearly in the space provided for
each question and write your answer In the space provided. The number of
marks available is shown in brackets [ ] at the end of each question

or part-question.

36. The figure below is made up of 3 identical rectangles. Find the lengths of

a) CD,
b) AF.
A G F
N
B H 14 cm
WV
C D E

Ans: a)

b)

(1
[2]

37. Kelly won $888 in a lucky draw. She donated $350 to charity and divided the

rest equally among her 2 children. How much money did each child get?

Ans:

3]

Do not write
In this column

14



38.

Sandy bought 15 boxes of erasers. There were 14 erasers in each box.

She repacked the erasers into packets of 8 erasers each.
a) How many packets would there be?
b) How many erasers were left over?

Ans: a)

b)

(3]
1

Do not writa
this column

15




39, Abottle of milk was -;- full. After Linda drank 120 ml of milk from the Doctwils
bottle, it became % full. How much milk was there in the botile when it

1
was — full?
2

Ans: [4]

16



40.

There were 250 more English books than Chinese books in a school library.
When the librarian bought another 120 English books and 80 Chinese books,
the total number of books in the library became 1500.

How many English books were there at first?

4]

Do not write
In this column

17




41. At a buffet, : of the sticks of satay were beef, & of them were mutton and the | Do notwrite
8 4 in this column

rest were chicken. Given that there were 225 sticks of chicken satay, how many
sticks of satay were there at the buffet?

Ans: [4]

18



42. Emma has 180 erasers. She has 5 times as many erasers as Janice. not wiite

a) How many erasers must Emma give Janice so that they will have the same  Jn this cotoma
number of erasers?

b) How many erasers do they have altogether?

Ans: a) [2]

b) 2]

19




43.  Ruth had 36 more sweets than Kayla at first. After Kayta had eaten 15 of her
sweets, Ruth had four times as many sweets as Kayla. Bo ot vl
How many sweets did Ruth and Kayla have in total at first?
Ans: [4]
END OF PAPER 4

PLEASE CHECK YOUR WORK

20
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Section B: ( 40 marks )

Questions 16 to 35 carry 2 marks each. Write your answers in the spaces
provided. For questions which require units, give your answers in the units
stated.

16.  Wirite 98 712 in words.

Ninehy - eqt thousand  seven hundred

i J
and —twelve,

Do not write
In this column

17. Fill in the blank with the correct number in the number pattern below.
34140 , 34200 , 34260, ? , 34380
1460 T40 t 60

34360+ 60 = 34330

ans: 24320

18. Arrange these numbers, beginning with the smallest number.

ENENENES

Ans: 2053 3508 2558 agos

smallest greatest




19. Here are five number cards.

Arrange these cards to form the greatest 5-digit even number.

Ans : 85 4"2

Do not write
In this column

20. Look at the number line below. Write the fraction or mixed number in the
boxes provided.

i A 1 N\ 2
2.4 Lo
1 5|
5-?_

271, 37 x48 = 5 7

X415

2916

] {41210

_miales

Ans : 1—17(9




99 1 + % o
10 5
TL 138 _9
O = = —a
oo
Ans: |0O
23.  Draw a line perpendicular to EF passing through point P.
P
E
F
24.  Construct and label an angle such that ABC is equal to 55°.

Do not write
In this column




25.

Mother packed 385 cookies equally into 4 boxes. How many cookies were
left over?

96 R
4]3%5
=3 LY

Ans : ’

Do not write
In this column -

26. % of Huiling’s stamps is 12. How many stamps does she have?
— ! —
12. |
g =— 7%
4w ——12x 4 |
Ans : L‘L g
27. Four circles are shaded below. How many more circles should be shaded so

that -g of the set is shaded?

www.testpaper.biz
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28.  Devihad 100g of sugar. She used % of the sugar. How much sugar was left?

“—— W00g ——
SN

Ve W —
used lef k-

5w — 100 Bu —3X2O
lu —100—=5 ~0

=20 Ans : 6O

29. Inthe figure below, ABC is a straight line. Find Zm.

m 580

A B

Zwm = 180" —-5%°

- s 12.2-

Ans : °

30. PQRSis arectangle. Find the value of Zw.

207
32°

(l

=g G L

I

Do not write
In this column

3%0 Ans : 5%

10



31. Shade and complete the figure using the bold line as the line of symmetry.

Do not write
In this column
N
N
d
N
SNEEAN
32.  There are some pupils in the hall. % of the pupils are boys and the rest
are girls. There are 40 girls. How many pupils are there in the hall?
40 >
T T 1] <[~ =] <1 ]
\00\7} - 3 WlS
5u—40
lwu —40—+G
Tu — 9xg
= 7 S
Ans : 7 2
4

www.testpaper.biz

11



33. A string was 4m long. Christina gave l of it fo her sister and@mto her

friends. How much string had she given away?

/
Sﬂa miﬁﬂm

SR

34.  Abag and a pair of shoes cost $200. The bag cost 4 times as much as
a pair of shoes. Find the cost of a pair of shoes.

sﬁ?”,u_ l}$150

IR

Hu

Ans:$ L{LO

Do not write
In this column

www.testpaper.biz

12




35.  Fiona, Gillian and Heather had a total of 275 stickers. Fiona had thrice as

many stickers as Gillian and Heather had 30 more stickers than Gillian.
How many stickers did Gillian have?

F o[-

A

Ans :

www.testpaper.biz

13

Do not wrile
In this column




Section C: (30 marks)

For questions 36 to 43, show your working clearly in the space provided for
each question and write your answer in the space provided. The number of
marks available is shown in brackets [ ] at the end of each question

or part-question.

36. The figure below is made up of 3 identical rectangles. Find the lengths of

a) CD, I
b) AF. T2 Tum
P
A G F ;
l“r(m B H 14 cm
v
C D E
CL = 14wm
AF — 14 +7 Ans: a) |4 em (1]
= 9 b)__ 2lem p

37.  Kelly won $888 in a lucky draw. She donated $350 to charity and divided the
rest equally among her 2 children. How much money did each child get?
fmt BT ey
| ~$350 I u ] Iy

QCJ/Lq.nl-\j o ‘,\,;Hj

E2e—350 < Eae

AU —— 53Q
e e o By

£$3Q)ﬂ Ans: é’; Q6CI

[3]

Do not write
In this column

14



38.

Sandy bought 15 boxes of erasers. There were 14 erasers in each box.

Do not write
She repacked the erasers into packets of 8 erasers each. In this column -
a) How many packets would there be?
b) How many erasers were left over?
? :
—— ?
| 15 X4 = 7
TaTaT o |
191818} - .-~ . 7
IEx 14 = Qo
Pld‘s — A+ = JE B>
www.testpaper.biz
Ans: a) C’ [3]
b) 2 (1]
4

15




39. A bottle of milk was % full. After Linda drank 120 ml of milk from the

bottle, it became % full. How much milk was there in the bottle when it

waslfull‘?
. ey _.L :_é__ _._.____._.l\/
=
! - : L = L)
| . T .. : Imﬂll 2_, -]"'_i
e '.> *4% Olrmwk
&H
lu — 120
bu — 20 X &
120 v,
Ans: (; M(J [4]

16

Do not wrile
In this column




40.  There were 250 more English books than Chinese books in a school library.
When the librarian bought another 120 English books and 80 Chinese books,
the total number of books in the library became 1500.

How many English books were there at first?

: hquqh%
E L[ < | 250 |20 |
Cil » %U' ' 1500

BD'KS Wt

PO 1L 480 < frv
DIV

5700 — 5O

= (D50

lw — oo+ >
- 535

EL —— 535 4410
Ry

Ans:- 77 S_

[4]

Do not writé
In this column

17




41.

At a buffet, % of the sticks of satay were beef, —;:- of them were mutton and the

rest were chicken. Given that there were 225 sticks of chicken satay, how many

sticks of satay were there at the buffet?
AD%°

I’VILIﬂ-Qn

NN

i~ : r\-ﬂ/ﬂj
b@g chi cken
5u < e 155

Ans:

360

Do not write
In this column

18




? 0 not write
a) How many erasers must Emma give Janice so that they will have the same this column *
number of erasers?

b) How many erasers do they have altogether?

&y

42.  Emma has 180 erasers. She has 5 times as many erasers as Janice. F)
n

L ¢ N
= IE l“‘:\\\
J o ;’*‘6*“)
5 (£ 0

Ans: a) 7 a [2]

b, 806

www.testpaper.biz

19



43.  Ruth had 36 more sweets than Kayla at first. After Kayla had eaten 15 of her
sweets, Ruth had four times as many sweets as Kayla.
How many sweets did Ruth and Kayla have in total at first?

& Yu —/,

R qu{fg 36 l :

TSN .
I N

8 .

du ~lu = 3u

s 136 = 5
Su — 5|
lu — 51 =3
= 17
R = 173 cas
:68
B —— pi4ic
=33
Todal — 68132
- {00

Ans: {OO

[4]

END OF PAPER
PLEASE CHECK YOUR WORK

20

Do not write
In this column
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